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SUBJECT: Mathematics YEAR LEVEL :7
Time allowed:

; 2 hours Total Marks: 140
|

' READ THESE INSTRUCTIONS FIRST

All your answers and working are to be written on the examination paper.
Calculators are permitted.

Show all your working.

Answer all questions.

The number of marks is given in [ ] at the end of each question or part question.
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Section Total Mark
Semester 1 40
2D Geometry 10
3 Probability 10
| Statistics 15
Measurement 15
Time 15
3D Geometry 10
Transformations 10
Problem Solving 15
TOTAL 140
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Semester One

1. Ata Mylie Cyrus concert there were 25 470 tickets sold,
a) Round this number to the nearest 100.

Qﬁ?@@m/

b} If the tickets for the concert cost $23 each, what was the total cost of all of the tickets?

S 25 HTD
a3 x sss $5p<erg,”

c) 70% of the people at the concert were female. How many were male?

;’g
- BT ey
A8 770 ¥ @43 Y
74+ »
d) Two thirds of the concert goers bought souvenir CD’s. How many CD’s were sold

{full working must be shown to get marks)

’ £

DETETD = KL o
Loca [
(690
;; 2. Place the numbers 1 to 10 (inclusive) into the correct boxes below.
" Numbers can be used more than once. (4]
Prime numbers -
2 348 7 v
Multiples of 4
oo & v
Factors of 18 ‘
1 236 9 v

Compaosite numbers

P o8 1o s
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a) Starting at the point (3,5) draw a square by drawing a line 3 units long to the East of the

point , then another line 3 units long heading North. Now complete the square. [1]
12
11
10
9
8 iy 3
7 o -
6 & N
5 - } S
4 5 I
S .
3 e z
2
1
0 o
L pnev L A

0 1 2 3 4 5 6 7 8 9 10 11 [WQ&M

b} Give the coordinates of each of the vertices. v/

(35 ,(fgﬁ) , (/ég& (20)

c) If each unit on the grid represents 2 metres, what are the dimensions of the square you

have drawn? v Y
A . X b 2 ok

d) Using the same scale as in part (c), accurately draw the locus of all points that are 4
metres from the point (3,5). (2]

b mouk /ﬁ;f Coast (A
E‘ y’k‘f%f’;"‘f yée{ {)W é&{aéﬁf“f &;{5%5’
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4, Rudolph has an after school job and is paid $20 a week.

a) He has to pay 10% tax on his $20 pay which is taken out before his weekly pay is
deposited into the bank. How much is deposited in the bank each week?

Joxod:=1 20-% ’?[ﬂ@/ 2]

b} He saves 7/9 of his pay and spends the rest on lollies each week. How much does he

spend on [ollies each week?
!
[P~ x7 =
[Pt =

c)

Rudolph is saving up to buy an IPOD which costs $285. How many weeks of saving will it
take him before he has enough to buy the IPOD ?

2o ..25?\//

4T 28 < 21 7

{2

5. Complete the sentences by writing in an appropriate word. (3]

a} The product of 2 numbers is the answer to a Mw{/hp?{{@d%? Aproblem.

b) The L of two numbers is the answer to an addition problem.

M
¢} To find the difference between two numbers you have to r‘*éé/%‘v&ﬁ‘ them fram
each other.
6.

Two boys, Jacob and Hansel entered an apple eating competition. Jacob managed to eat % of
an apple in 5 seconds and Hansel ate%of an apple in the same time. Both of them thought
they had won. Show which one of them really ate more in the time.

5 Lo - 1 o www&% o MW»LU
& = s - .//3_ 7 |
H v 4 Hempot

[2]
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7. Match the fraction cards into their correct pairs by drawing a line between them. (4]

3 26
i N PO i)
2_31 e 75%
5 . -
2 g
g™ 20
45% =
- [P 3

8. A sports team are all weighed, 3 of the team weigh 56.355kg, 2 weigh 67.45kg and one
weighs 60.5kg. Calculate the team’s total weight. (full working must be shown)

£L-25¢ ¥ 3 /é%e%?\/

67 S K 2 12409
O § bo S
TS d

&

ééﬁ :"_a igé_’"@% [2]

a) A house plan shows a scale of 1:200. On the plan the lounge measures 7cm X 5.2cm.

What are the actual dimensions of the lounge? .
7y men v oDt no s (ovte fumanks

F L o w DO G
: ) ¥ \/ v/

oD o~ . (0UO Coy. iy

b} A large carpet square measures 5m by 4.5m. Using the same scale of 1:200 what would
be the dimensions of the carpet drawn on the house plans?

oo trwe = ALl 0 92~ X D02 .
UTO = ped = Qe Co o»:’// o foare S

Y T{j%"“ by A+ 25 Corm. 12]

e) Draw an accurate scale drawing of a door that is 2 metres high and 0.8 metres wide

using a scale of 1:50, , 21
A0D = §0 = & Cun

P& ":”f@ - Ef-ég@&

v/

LLCtam,
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2D Geometry

10. Fill in the blanks:

v’

In a regular polygon all of the §¥ &(&? are the same length and all of the
M(m ‘/ are the same size (2]
11. Answer these questions from the polygon shown: |
M T ——
T . "'_—\\
/ P N
:"’. T u
[
b LT
...... K
a) Using 3 point notation name an obtuse angle.
e ba [1])
b} Name a side of the polygon
fa K [1]
¢) Name the vertex where MK and JK intersect.
. (1]
W,
12. Name each of the polygons drawn: [3]
g e oy /./""\,w&
:. < \*\\
{ J e
Ij ; < //’
| / AN
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13.

a) Draw a 220° angle and label it using 3 point notation ABC

%,
s

14. Draw a sketch to show AB L ED

b

ff
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Probability

15. The Francis family have three children.
a) Draw a tree to represent the combinations of boys and girls possible. (2]

@%f%‘i’k @{
& .
5 o BA é?ﬁ %%J Tty N £ %‘i‘fé

J

b) List the possible outcomes where birth order matters. (2]

_::--»w-_} BREE BBEe Ral fde GERE  oRix P ovvest v

Ge B GEc

16. Alice’s jar contains three different types of sweets,
Smilieys, Stars and Octagons.

Lo
a) What is the probability of picking a Star at random?
[1]
} b) If Alice ate one Star, what would the probability be of picking a Smiley next?
b
el i
re 2]
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17. A class survey showed that out of the 25 students, 10 had Vodafone mobiles, 8 had Telecom

mobiles, 3 had Next mobiles and the rest didn’t have a mobile.

a) What is the probability that someone in the class has a Telecom mobile?

£
AS

(1]

b} Using the same probabilities as the class survey, how many students wouid you expect to

have Vodafone mobiles in a school of 800 students?

e Pov + 26 10 v/
) 20

(2]

) g
R
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Statistics
18. Below are the weights in kilograms of 20 sheep:
- ;s , S /
15 17718 15 12 13 147152117/ 17 13 18 20 22 21 3¢ 14 2/@/ 13
a) Draw a tally table and frequency chart of the sheep weights. i3]
£
\/ 'y?fgéz{/fu; Trés
2 Y Nt -
el R ] L eeeeeeeeeeee oo e e eseeee e
_____ 2T N
e s e oot ee e e eeereer e
..... F SR 0 oSO NSOy Ao OO SOOI
SN« Y00 W0 . MO e er s
...... L oo
! SO o 0 O JETOo &SV U RURSUROOR
..... oo L7 A R~
2 1 e
..... et N S A0

] ;g’/ o |
[T

[
Il

""" I e N A A o o SN A I

Tiel fa
Draw a stem and leaf plot of the shee
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d) What is the average weight of the sheep?(working must be shown) 9n

Yo+ 2 b+ e A Y46+ F¢ £56AYO 4 UL FEE

= 325 /
329 2 o = _,
L
f’égzzi( 2]

19. The Pie Graph of Sheep Wool Colour has been made from Sheep Wool Colour
counting a flock of 600 sheep :

a) How many brown sheep are there in the flock?

v

/o L !
500 01§

k) What fraction of the flock is not White?

s¢ L
oo T 28

[
'Z’,J) W“?’ED“]

\
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Measurement
20.
Find the perimeter and area of the rectangle shown. 13 em . 1 3
. A i
PN
) 11 cm ’}: "v\‘ P ;
o RO S B i ’,\ g} N 'S ) “‘y;é ;f
perimeter__ =~ ( Tl (1} e
%}y‘ area . o [1] /
/
. /
21, Y
- -, :: ’ff
1 - W
Find the perimeter and area of the shape shown. 9
I T T
Q’?g{‘ﬁﬁa {L,L‘Sf = 1 453 m i

JLESE AN

perimeter i1

b
area ;@6}? A (2]
22. Find the missing length in the rectangle if the area of the rectangle is 60 cm’.
{working must be shown}
Xcm \;::\; M Ao e
5cm
Py o
2 e
(2]
23. Find the length of one side of a square if the perimeter of the square is 64cm
i {1}
Page 12 of 22 %
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24,

25,

a) Calculate the volume of the box.

(show full working)

Loxlyy

F

famy
I

o,
[

b) How many litres can the boxhoid.

-y

£ E J L} em

I3 cm
Mlem
7
LEL 00 caan

LLEOD omn R -
L,
al Convert 12cm to the units given [2]
\/ o

12 cm [0 mm Se 2 m
b) Convert 5kg to the units given [21
/ &

Ske 5000 g D008 t
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Time
26. How many hours are there in 2 weeks 3 days?
he L e Ao
177 R ¢ v g LoD
-~ (1]
27. Mr Jessopp catches a plane to Hawaii at 1324 hours.
a) Whatis the time in 12 hour time?
4 ?',{,g:,? Yo
l | ? v [1]

b} If the flight takes ten hours and fifty two minutes, what time is it in New Zealand when it

arrives in Hawaii? , , .
L 3 \:5 E«”@ AL e 5 a}, PP B

1 t f)? i’{:" -"gf“'iv,:\h .

sy

(2

N
-

C{mf 1]
!

Hawaiian time is 23 hours behind New Zealand. What time does the flight arrive in

I

c)
Hawaiian time?

28. Ms Perrin decides to drive from Auckland to Invercargill.
a) How long does it take her if she leaves at 11.43am on Sunday and arrives in Invercargilt

on Tuesday at 4.15pm? ; 7 . .
o2y = el S {om) = e Qe UT) =7 W (71
ity ] 5 ij rxf - S

v
oy - ,
z; B

gy
LANAT
2 & 2

b) If Ms Perrin slept for 8 hours on Sunday night, 6 hours on Monday night and also had 9
twenty minute stops during the journey, how much actual driving time did Ms Perrin

have? . .
£ = e b
P Jer b

o !
S . -}
% e Fois B . T Py
§§}f§; e g;\}.i}f“ - - e Pt
)
T e e § H ?\ f} 2 i

Pp 0 ed e e :9) S aas s, Pevrns

Fid T e AT i f'ff’ﬂ ot e [2]
: " The """50"} ‘i"\i‘u'»"

f

Page 14 of 22



i S
St

28.

a)

b)

d)

Below is a bus timetable from Auckland to Otorohanga:

Coach Stop Arrives Departs
bduckland 9:00 am ~—-
Manukau Cigy 214 am  9:15 am
Papakura * 9:29 am 9:30 am
Gombary * Q44 am  9:45 am
Pokeno * @054 am 9155 am |
Rangiriti * 10114 am 10:15 am
Runtly * 10:24 am 10;25 am
Taupiri * 10:29 am  10:30 am
Mgaruawahia 10:34 am  10:35 aem
Hamilton I IT-685%01 11:00am 11:35am
Rukuhiz * 11:36am 11:39am -~
Ohaupa g 11:43 am 11:44 am

Te Awarnutu 14:59 am 12:00 om
ihikdhi 12:04 pm 12:05 pm

Te Kawa Crosstoads H 12:09 pm 12:10 pm
Otaorohanga 12:24 pm 12:25 pm

How long is the trip from Auckland to Rukuhia?

*m

v R
g N SRR

(1]
Where is the longest stop on the trip?
?/1 Tre
-~ % oA LT {1]
How long is this stop?
g
N;} ‘9’\“; !_5“’,,*“.--‘-,,421 o
(1]
How long does it take the bus to go from Pokeno to Ohaupo?
E z s 5 ~
RS A
- (1]
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30.

-9

\i""\f‘{,:}—i
Y5
g f
it
Jax

24
Lond hiy
San {
Franft

L]
. Jf hanpasbuyrg

R

-10] 9 | <1 [GMT|+1 [ 42 |43 |4 | 45| G | T

Using the world time zone map above:

a) How many hours is Santiago ahead or behind New Zealand time?

7 (1]
b) Find the time in London when it is 5pm in New Zealand.
/ pA
kel VN [1]
¢) Ifitis 0630 in Paris what time is it in San Francisco?
Ob >
- é} e &2 f} 2 3
o - (1]
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3D Geometry

31. Complete the sentences:

a4
a) Aprismhasa_ U Gl cross section

b) All of the triangular faces of a pyramid meet at one

32. Draw a neat net of a square based pyramid.

Page 17 of 22

s .
' L
M ey E
. T !
s s
(3]
33.
Draw the shape below as an isometric projection on the dotty paper with the dark edge as
the first line, e W
Ny gt ¥ e AT OV 2
Ltk s v (2]
et AN
J
CE— )
A ’
o :
& 3 1
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34,

M

al Name one vertex from the figure above.

b} Name one edge.

c) Name pne face.
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Transformations
35.
a) Draw in all of the lines of symmetry for this shape.
S /X / L
| % \ Ky
BN / R
~
.
| A
; A
™ b) How may times would the figure map onto itself through a 360° rotation?
Lf 1]

39. Rotate the figure below, 180 degrees clockwise about the centre marked with O and
(2]

draw in the rotated image marking it A"
£ ’
Lo

i1 E
L
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40. Enlarged the figure by scale factor of 2.

g

RN
LN N
AN

N

41.
a) Inthe diagram A has been enlarged to A’. What is the scale factor?

2

(2]

M

NS

et

N

b} Reflect A and A’ in the mirror line M
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Problem Solving
42. Edna bought 48 packets of red balloons, 66 packets of blue balloons and 35 packets of
yellow balloons. Each packet cost $3 and contained 12 balloons. She mixed them up and
gave away 213 balloons. Then she repacked the remainder into packets of 25 balloons each.

a) How many balloons did Edna buy altogether?

) 7 P8
i 4 o
b) How many packets of balloons did she have when she had finished repacking?
7 88— A1y = el |
G D
(S5 28 = e yd
“‘a‘g ) ?

c) If she sold each repacked pack of balloons for $10 each, how much money did she make?
"%uf' o

TRV (1t ya g/

T

- | ‘;l/ £2

(2]

43. Jane filled the biscuit jar when her 3 children went to bed. That night one child woke up and
ate half of the biscuits, then went back to bed. Later the second child woke up and ate half
of the remaining biscuits and then went back to bed. Finally the third child woke up and ate
half of the remaining biscuits leaving 3 cookies in the jar. How many biscuits were in the jar
to start with?

B Ay = b )
£ w13 . -

e w24 AL 2]

44. Ms Match went to a store, spent half of her money and then $10 more. She went to a
second store, spent half of the money she had left and then $10 more. She then had no
money left. How much did Ms Match have when she started out?

1, s
“f -1 RN ‘
#&@%M?“ﬁﬂg/

g

e

[2]

iy } - rd

i
i

}\Q\f@” Chyre 10 4+t = 2o l
hx | (romcyzée = hqGwed
- ‘ Page 21 of 22
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k=3

45. Henry's sister is 3 years younger than Henry. The product of their ages is 180. How old is

Henry?
(Lot 1£510
(5 17

15
]

46. The Cyclone Rollercoaster has 16 cars. Some of them hold 2 passengers and some hold 3
passengers. If there is room for 36 people altogether, how many cars hold 3 passengers?

7 3 -
Io K 62 5
“}("E_f S#Ki; ﬁw?\)_/ d
ey HHe (36 "
L] -

47. Atrain left town with 121 passengers. At the first stop 1 person got off. At the second stop 3
people got off. At the third stop 5 peopie got off. At the fourth stop 7 people got off. If this

pattern continues :

a) How many people will get off at the 7™ stop?

Ly 308,79, 118
/?\ (1]

b) How many stops will the train have made when all of the passengers are off?

| 2 ¢ 7 9 i 200 o ig Al
Lo 9k A 26 RT be L1 teo 12

1 2
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